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Question ID:- 557
When was the last time, India won the Gold Medal in Hockey at the Olympics?

N of MRad ar silciftres 3 31t 3 Faul uges oa Shiar en?
Options:-

=12t July, 1980 / <2 garrf, ¢2co, Option ID :- 2228,
=28 July, 1980 / ¢ g, ¢2¢o, Option ID :- 2225,
=29t July, 1980 / 22 garf, ¢2¢o, Option ID :- 2226,

=30 June, 1980 / 30 Sy, 22¢0, Option ID :- 2227,
Answer Given:- 29" July, 1980 / 22 gar, 22¢o, Option ID : -2226
Correct Answer :- 29" July, 1980 / 22 gar, 22¢o Option ID :- 2226

Question ID:- 558
The least number which when divided by 12, 15, 20 or 54 leaves a remainder of 4 in
each case:

TGA BIE AR SO 2, Y, 0 AT 8¥ A fasnfSra dol ur yAa feufer 3 guwer ¥ i B:
Options:-

1450 / ¥so.0, Option ID :- 2229,
1454 / vys¥.0, Option ID :- 2230,
540 / s¥o.0, Option ID :- 2231,

«544 / s¥y¥.0, Option ID :- 2232,
Answer Given:- 544 / s¥y%.0, Option ID : -2232
Correct Answer :- 544 / syy.0 Option ID :- 2232

Question ID:- 559
Find the ratio of LCM and HCF of 5/12, 10/15, 3/20, 8/25?

8/22, 20/28, 3/20, ¢/ @ c.A.U. 3R A.A.U DI AguId JATd DIfra?
Options:-

«120:1 / 220:¢, Option ID :- 2233,
2240:1 / :%o:¢, Option ID :- 2234,
160:1 / ¢o:2, Option ID :- 2235,

«None of the above / saidt & 2 @1 orél, Option ID :- 2236,
Answer Given:- None of the above / sami 3 21 oI ordl, Option ID : -2236
Correct Answer :- None of the above / sai 3 31 @1$ ol Option ID :- 2236

Question ID:- 560
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Microsoft Word is:-

AEDRITC a3 3:-

Options:-

«Application Software / vyciidor Jiiweder, Option ID :- 2238,
sAuxiliary Device / siiferaferil fRarsa, Option ID :- 2239,

«None of these / sod A @i &él, Option ID :- 2240,

«0.S. / 3wy, Option ID :- 2237,
Answer Given:- Application Software / vyclidora 3itwedrr, Option ID : -2238
Correct Answer :- Application Software / wyciidsorer siweaz Option ID :- 2238

Question ID:- 561
Kilobyte (KB) equals to:-

fpciiarse (D) sad @R 3:-

Options:-

100 bytes / oo arscam, Option ID :- 2241,
+1000 bytes / 200, arscar , Option ID :- 2242,
21024 bytes / to0¥% asga , Option ID :- 2243,

1030 bytes / 030 arsczr, Option ID :- 2244,
Answer Given:- 1024 bytes / 0¥ asca, Option ID : -2243
Correct Answer :- 1024 bytes / <o0:% arsca Option ID :- 2243

Question ID:- 562
NREGP is the abbreviated form of:-

o3RSl o1 Hferd U 3:-
Options:-

«National Rapid Educational Guarantee Programme / oi9roicl 3Us ugd9reid 1=l gioger, Option
ID :- 2247,

«National Rapid Employment Guarantee Programme / ai9rmeia 3trs dygiiidic strél Qioyer, Option
ID :- 2248,

«National Rural Educational Guarantee Programme / si9retel 33c gald9lold s1¢l gioyer, Option
ID :- 2246,

«National Rural Employment Guarantee Programme / ai9mcicl 32 Gydiriic s1Ré gioer, Option
ID :- 2245,

Answer Given:- National Rural Employment Guarantee Programme / 39reict 32 Sydiirieic
smét gisper, Option ID : -2245

Correct Answer :- National Rural Employment Guarantee Programme / ai9ieicl 3¢ Sygifdic
sR& Yeger Option ID :- 2245

Question ID:- 563
DRDO stands for:-

SRS &I Adcd 3:-
Options:-

«Defence Recruitment and Development Organisation / Rwa fraedicds Saaudic siislonssiorn,
Option ID :- 2251,

«Defence Region and Development Organisation / 3% fisier s Saaudic sifsfonssiorsr, Option
ID :- 2249,
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sDefence Research and Development Organisation / 3va fxad s Iaaudic sifsienzsior,
Option ID :- 2250,

«Defence Retiring Development Organisation / 3@a dcraf¥sr Sacudic sifstonssioer, Option ID :-
2252,

Answer Given:- Defence Research and Development Organisation / f3%a ferd o5 Sacudic
sifsfemsoioret, Option ID : -2250

Correct Answer :- Defence Research and Development Organisation / R3wa f¥rd 63 Sacudic]
sifefemrssiorst Option ID :- 2250

Question ID:- 564
URL stand for:-

Y3IIRTcl DI HAcdcld 3=~

Options:-

«Uniform Resource Location / gferwist Rt eiddersr, Option ID :- 2253,
«Uniform Resource Locator / forwist 3Rt didsez, Option ID :- 2254,
«Uniform Retention Locator / Iyforeist Reeret ciddez, Option ID :- 2256,

«Universal Resource Locator / Jferaria Rt cidez, Option ID :- 2255,
Answer Given:- Uniform Resource Locator / gforwist fediet clidses, Option ID : -2254
Correct Answer :- Uniform Resource Locator / gforwist fiRi cidses Option ID :- 2254

Question ID:- 565
Who is named as the flying Sikh of India?

MR A wcnzger R1a @ o A A Sirerr Sirar 37
Options:-

«Ajit Pal Singh / sfiqa ure 25, Option ID :- 2258,
«Joginder Singh / sifdicz Rig, Option ID :- 2259,
«Milkha Singh / firczn f3is, Option ID :- 2260,

«Mohinder Singh / #ifds: Ri, Option ID :- 2257,
Answer Given:- Milkha Singh / firczn f3is, Option ID : -2260
Correct Answer :- Milkha Singh / firczr iz Option ID :- 2260

Question ID:- 566
Which of the following states is a member of the ‘seven sister’?

forgaiferRaa 3 A dia A1 I Aaet R o1 A 3?
Options:-

«Bihar / fasr, Option ID :- 2264,

= Orissa / snf3om, Option ID :- 2263,
«Tripura / fogar, Option ID :- 2262,

« West Bengal / uf2ia dsmer, Option ID :- 2261,
Answer Given:- Tripura / fogz, Option ID : -2262
Correct Answer :- Tripura / foqgzr Option ID :- 2262

Question ID:- 567
In which state was the Nalanda University located in India?
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MR JA olicicl faeafdencr fov=a s # 3-era ar?
Options:-

«Bengal / dsmea, Option ID :- 2265,
«Bihar / fasr, Option ID :- 2266,
= Orissa / snfsom, Option ID :- 2267,

«Uttar Pradesh / 3aaz ggor, Option ID :- 2268,
Answer Given:- Bihar / fasr, Option ID : -2266
Correct Answer :- Bihar / fasr Option ID :- 2266

Question ID:- 568
Current Chairman of ISRO is:-

S D acldArel AEAGT 3i-
Options:-

«A.S. Kiran Kumar / vua. fseur gair, Option ID :- 2270,
«Dr. K. Sivan / 3i. @. Bmaa, Option ID :- 2272,
«K. Radhakrishnan / &. siengeurer, Option ID :- 2269,

«Shailesh Nayak / dider airras, Option ID :- 2271,
Answer Given:- Dr. K. Sivan / 3i. @. 31a01, Option ID : -2272
Correct Answer :- Dr. K. Sivan / 3i. o. fraet Option ID :- 2272

Question ID:- 569
In calculating National Income which of the followings is included?

IUSERT 3RT Y 31vren 3 forscifeiRaa 3 3 wier onfirer 3?2
Options:-

«Income of smugglers / azwxai &t amer, Option ID :- 2275,
sIncome of watchman / didicr &t sirr, Option ID :- 2276,
«Pension / dowet, Option ID :- 2274,

«Services of housewives / sEiri &t 2/arg, Option ID :- 2273,
Answer Given:- Income of watchman / didicr ot am=1, Option ID : -2276
Correct Answer :- Income of watchman / didicr &1 sirr Option ID :- 2276

Question ID:- 570
How many chambers does a Mammalian heart have?

U Fdaoredl & o d fooaa wer (derasd) aia 3?
Options:-

«1 / 2.0, Option ID :- 2278,

«2 / 2.0, Option ID :- 2279,

«3 / 3.0, Option ID :- 2280,

4 / ¥.0, Option ID :- 2277,
Answer Given:- 4 / ¥.0, Option ID : -2277
Correct Answer :- 4 / ¥.0 Option ID :- 2277

Question ID:- 571
Paris Agreement, held at Paris in 2015, aims at limiting global temperature:-
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uf¥a Fasiian, 20y A afyar # s fosar sk e, et 320 dffam darudirer o) Hifda oo 3:-
Options:-

«Below 2 degree / : it 2 sfi, Option ID :- 2282,
«Below 3 degree / 3 33t a1 sfia, Option ID :- 2281,
«Below 3.25 degree / 3.2y 3sf A ofi, Option ID :- 2283,

sNone of these / 3ot A @i oidl, Option ID :- 2284,
Answer Given:- Below 2 degree / 33t a1 siia, Option ID : -2282
Correct Answer :- Below 2 degree /  f33f 2 sfia Option ID :- 2282

Question ID:- 572
To encourage people to stay home amid Covid-19 pandemic National Book Trust
launched a campaign named:-

SI9IeTeT g < ol DIAS -2 SABIAISL B DRI clivll DI TR 3 Bl D fere Qeanfda ool d fo1e v sifirIrer 9 fepar &
a1 ot 3:-

Options:-
s #Indialetsstudy / #<fRamaecst, Option ID :- 2288,
« #StayhomelIndiawithBooks / #3enuEizamfaagaz, Option ID :- 2287,

« #StayhomeStaySafe / #;enprw, Option ID :- 2285,

« #StayhomewithBooks / #3gafaagazi, Option ID :- 2286,
Answer Given:- #StayhomelIndiawithBooks / #:cdnuEtafaagaz, Option ID : -2287
Correct Answer :- #StayhomelndiawithBooks / #3auEtzanfaeagazr Option ID :- 2287

Question ID:- 573
The term Fauna represents:-

Bloll 916G T Yferforferca war a:-

Options:-

sAnimals of particular area / fa9y 8iq @ seraz, Option ID :- 2292,
«State Fruit / s wa, Option ID :- 2289,

« State Plant / 3w dienm, Option ID :- 2290,

«State Tree / 51 us, Option ID :- 2291,
Answer Given:- Animals of particular area / fa9 giq @ sieiaz, Option ID : -2292
Correct Answer :- Animals of particular area / fad9y &iq @ sieraz Option ID :- 2292

Question ID:- 574
In a certain code "MOUSE" is written as "PRUQC"”. How is “"SHIFT"” written in that
code?

fRpft forfara oo simar 3f "MOUSE" @t PRUQC ferzan sitar 3 3=t oo sirer i "SHIFT" o) fipar yoorR foran
Siream?
Options:-

«RKIVD , Option ID :- 2295,
« VIKRD, Option ID :- 2294,
«VJIDR, Option ID :- 2293,

« VKIDR , Option ID :- 2296,
Answer Given:- VKIDR , Option ID : -2296
Correct Answer :- VKIDR Option ID :- 2296
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Question ID:- 575
If ‘green’ is called ‘white’, ‘white’ is called ‘yellow’, ‘yellow’ is called ‘red’, ‘red is called
‘orange’, then which of the following represents the color of sunflower?

afe 83 Bl AWe, AWe DI Ulel, dict ! drel, cicl Bl AR @al Sl 3, Al forgol 3 A Bler fameu JeERdl & 1
@I gorfar 3?
Options:-

«Brown / sg1, Option ID :- 2299,
sIndigo / sficn, Option ID :- 2300,
sRed / ara, Option ID :- 2297,

sYellow / dic, Option ID :- 2298,
Answer Given:- Indigo / sficm, Option ID : -2300
Correct Answer :- Red / ara Option ID :- 2297

Question ID:- 576
Ram is brother of Rahul. Sapana is sister of Shyam. Rahul is son of Sapana. How is
Ram related to Sapana?

I, IATCT DI HIE & AUGT, 9AA Dl G8ol & ATcl, AUl DI g 3 A, Aol A pA yore Jdfera 3?
Options:-

«Father / fuar, Option ID :- 2301,

sGrandfather / ccsit, Option ID :- 2303,

sGrandson / uiar / diq, Option ID :- 2304,

«Son / yq / ae, Option ID :- 2302,
Answer Given:- Son / gq / Je1, Option ID : -2302
Correct Answer :- Son / yq / de Option ID :- 2302

Question ID:- 577
Indian Muslim Movement led by Ali brother during 1919-1924, is also known as:-

222¥~-23¥ @ SIRIl 3fcil HI¥ D olged 3 R R 3MicIcrol @}, @ wu 3 8ft Stror sirar 3
Options:-

«Bharat Islamic Movement / sra s¥enfde siicicor, Option ID :- 2307,
= Civil Disobedience Movement / afderr srasi siicicror, Option ID :- 2306,
sKhilafat Movement / f3aarwa siiciaer, Option ID :- 2305,

sNone of these / ol a @i &1dl, Option ID :- 2308,
Answer Given:- Khilafat Movement / Raamsa siiciaesr, Option ID : -2305
Correct Answer :- Khilafat Movement / fRacrwa siicicior Option ID :- 2305

Question ID:- 578
Lothal a city in Indus Valley Civilization, is known for:-

cirerct f3i¢] a1él ARIAT DI TP B2 3,A5 @ fére Siror sirar 3
Options:-

Free Downloaded From - www.exammix.com



uits huge storage / sawr faena sisrur, Option ID :- 2312,
uits huge temples / s faone sfez, Option ID :- 2310,
«its mass graveyard / zad a3 duaa w2 ofyzFawns, Option ID :- 2309,

uits sea ports / s WS} dcons, Option ID :- 2311,
Answer Given:- its sea ports / 5 J<) dceens, Option ID : -2311
Correct Answer :- its sea ports / sa1d 39S} sicens Option ID :- 2311

Question ID:- 579
Which among the following is not the Permanent member of United Nations Security
Council?

forsaiferRaa 3 3 wiol YD A YR ufrus o1 AR Jcx= ol 3?

Options:-

«France / wiz, Option ID :- 2314,

«Israel / sseze, Option ID :- 2316,

«People Republic of China / diya Ruféaw sife asen, Option ID :- 2313,

sRussia / =51, Option ID :- 2315,
Answer Given:- Israel / ssieza, Option ID : -2316
Correct Answer :- Israel / ssrisa Option ID :- 2316

Question ID:- 580
"IC" in computer stands for:-

oI A "SR o1 Aqe drar 3:-

Options:-

«Integrated Charges / séssacstar , Option ID :- 2317,
sIntegrated Circuits / é&9jes afeoe , Option ID :- 2319,
sIntegrated Current / £&ses oic , Option ID :- 2318,
«Internal Circuits / sceara afese , Option ID :- 2320,

f O NN

Answer Given:- Integrated Circuits / $d9es afese , Option ID : -2319
Correct Answer :- Integrated Circuits / sé9)es aafese Option ID :- 2319

Question ID:- 581
Pregnant women usually become deficient in:-

snfadt afcmsiid sz uz ot waf &) st 3

Options:-

sCalcium and Iron / ®fRorm ik sirro1, Option ID :- 2323,
«Iron and Sodium / srro siik AR, Option ID :- 2322,
«Magnesium and Iron / disphifdrm iz sirrer, Option ID :- 2324,

«Sodium and calcium / afsua siiz dfcerar, Option ID :- 2321,
Answer Given:- Calcium and Iron / &feerm siiz sirret, Option ID : -2323
Correct Answer :- Calcium and Iron / dfeorm siz sirrar Option ID :- 2323

Question ID:- 582
Coal India Limited, largest coal producing company in the world, has:-
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gforn o1 IeRY T3l PRI Icurcd DUl ®ia i3 feifdes & ury 3:-
Options:-

«Maharatna Staus / s@rca @1 gsif, Option ID :- 2325,
«Miniratna status / fiweilcor @1 gaii, Option ID :- 2326,
«Navratna Status / smazca @1 =i, Option ID :- 2327,

sNone of these / ol A @i &1él, Option ID :- 2328,
Answer Given:- Maharatna Staus / sgrca @1 gaif, Option ID : -2325
Correct Answer :- Maharatna Staus / ssreca @1 csit Option ID :- 2325

Question ID:- 583
The name of A.P.J Abdul Kalam auto-biography is:-

.Ul 3fegeT et i Siidofl T oIa 3:-
Options:-

s Guiding Souls / snsfder A, Option ID :- 2332,
«Ignited Minds / ssonses aissa, Option ID :- 2329,
s Mission of India / faera sitw =, Option ID :- 2330,

«Wings of Fire / fisa siis wrz, Option ID :- 2331,
Answer Given:- Wings of Fire / fdsr site wrz, Option ID : -2331
Correct Answer :- Wings of Fire / fdspr siic Rz Option ID :- 2331

Question ID:- 584
A shopkeeper offers a discount of 10% on his article . the marked price of the article is
RS 450 . The selling price should be:-

U gPIGIGR 3ol 3Mféde UR 20% ol B¢ Yglel @l & mféme @I Rifad Icd ¥8o & faapa e slonn anfde: -
Options:-

«Rs 395 / 334 su?l, Option ID :- 2333,
«Rs 400 / ¥oo 3ud, Option ID :- 2336,
:«Rs 405 / ¥oy 3ud, Option ID :- 2335,

sRs410 / ¥z0 3ud, Option ID :- 2334,
Answer Given:- Rs 405 / ¥os 3ud, Option ID : -2335
Correct Answer :- Rs 405 / ¥os 3uax Option ID :- 2335

Question ID:- 585
Hind Swaraj is written by:-

f&c Faerst D gRI ferzr sk 3

Options:-

«Jawahar Lal Nehru / smams: i sigs, Option ID :- 2338,

«M.K. Gandhi / va. stieit, Option ID :- 2340,

«Pandit Deen Dayal Upadhyay / dfda ot care sureamr=r, Option ID :- 2339,

«Subhash Chandra Bose / 3 g a1, Option ID :- 2337,
Answer Given:- M.K. Gandhi / vaa®. srielt, Option ID : -2340
Correct Answer :- M.K. Gandhi / vaa. sieit Option ID :- 2340

Question ID:- 586 )
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The number 0.05 is what percentage of 20?

TSI 0.08, 0 DI fadi yferora &?
Options:-

10.025 / o.0:y, Option ID :- 2342,
20.25 / 0.2y, Option ID :- 2343,
«1.5 / 2.5, Option ID :- 2341,

2.5 / .y, Option ID :- 2344,
Answer Given:- 0.25 / o.2s, Option ID : -2343
Correct Answer :- 0.25 / o.2s Option ID :- 2343

Question ID:- 587
The difference between one-fifth of 1000 and one -fifth percentage of 1000 is:-

2000 P TH-UiTd 3R 2000 B Tp-uiad gferord & ol o1 3id= 3:-
Options:-

20 / 0.0, Option ID :- 2348,
198 / ¢3¢.0, Option ID :- 2347,
2«80 / ¢o.0, Option ID :- 2346,

«800 / ¢oo.0, Option ID :- 2345,
Answer Given:- 198 / 23¢.0, Option ID : -2347
Correct Answer :- 198 / t3¢.0 Option ID :- 2347

Question ID:- 588
In the following question, select the set of conclusions which logically follows from the
given statements:-

forgotfeiRad yost 3, forcapdl @ 33 AYg PI TRIel DIfSIT Sl ST 318 Deroll DI AIfBd WU A o[RIRVI Bl 3i-

Statements:-
All apples are bananas/asft 3g, @da &
All bananas are sweet/sft @a, fis &

Conclusions:-

I) Some apples are sweet/ss 9, i3 2

II) Some bananas are apples/@o @cl, 39 3
Options:-

«Both conclusions I and II follow / <Gl forsad I wd I1 sioRRuT @w=a &, Option ID :- 2352,
«Either conclusion I or II follows / a1 al forsaed I @ I sigRRuT @=a &, Option ID :- 2351,
«+Only conclusion I follow / daa forsasd I sigRziRur @war 3, Option ID :- 2349,

«+Only conclusion II follows / daa forsad 11 siepzur wzar 8, Option ID :- 2350,

Answer Given:- Both conclusions I and II follow / 3iail forsad I wa IT 3R @=d 3, Option
ID : -2352
Correct Answer :- Both conclusions I and II follow / 3iail forsod I wa I so)RuT B & Option

ID :- 2352

Question ID:- 589
In the following question, select the set of conclusions which logically follows from the
given statements:-

forgotfeiRad yoot 3, forcapdl @ 31 AYg BI TRIel DHISIU Sl fSU 318 Deroll DI dAIfBd WU A ORIV Bl 3i-

Free Downloaded From - www.exammi

X.Com



Statements:-

Some keys are locks /oo aifeit, darc 3
Some locks are numbers /@ ard, Jw=me
All numbers are letters /it Jz=nyg, sierR 3
All letters are words/af sigR, 9rsc 3

Conclusions:-

I) Some words are numbers. /@s 95, G 3
II) Some locks are letters/@o ard, sigr 3
Options:-

«Both conclusions I and II follow / <&l forsad I wd I1 sioRRur @w=a &, Option ID :- 2355,
«Neither conclusion I nor II follows. / on al forsed I o €t 11 sioRRuT @ 8, Option ID :- 2356

4

«+Only conclusion I follow / dqa forsasd I sigRiRur @war 3, Option ID :- 2353,
«+Only conclusion II follows / @ad forsad 11 siepzur wzar 8, Option ID :- 2354,

Answer Given:- Both conclusions I and II follow / 3iail forsad I wa IT 3R = 3, Option
ID : -2355
Correct Answer :- Both conclusions I and II follow / 3iail forsod I wa I 3gRRuT B & Option

ID :- 2355

Question ID:- 590
Find the least humber of 3 digits, which is exactly divisible by 14.

3 3il I DI A BIE Iz A1 Difery, St 2y A guia: fnmsa @
Options:-

«100 / 200.0, Option ID :- 2359,
110 / 2%0.0, Option ID :- 2357,
«112 / 222.0, Option ID :- 2358,

«None of the above / zodi 3 &)X o1éf , Option ID :- 2360,
Answer Given:- 112 / 2z22.0, Option ID : -2358
Correct Answer :- 112 / <22.0 Option ID :- 2358

Question ID:- 591
A trader offer his customer 10% discount and still makes a profit of 26% . What is the
actual cost to him for an article marked Rs 280.

U AR 3ol 36 DI 20%0 b1 &¢ &1 & 3R b2 il 26 %0 DI oI DAL 8 ¢o JUA I Tb avg D fere IaD
fere areafae Jca o= 3?
Options:-

199 / ¢3%.0, Option ID :- 2361,
2200 / R00.0, Option ID :- 2362,
2210 / 2%0.0, Option ID :- 2363,

sNone of the above / st 2 @) oidl, Option ID :- 2364,
Answer Given:- 200 / 200.0, Option ID : -2362
Correct Answer :- 200 / R00.0 Option ID :- 2362

Question ID:- 592
The Cost price of 25 articles is equal to the selling price of 20 articles. find the gain %.

8 T3l BT TA e 0 A3 D IS I D R & %o iId Hifse
Options:-
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213% / 3%, Option ID :- 2366,
122% / 2%, Option ID :- 2367,
125% / 2¥%, Option ID :- 2365,

«None of the above / s 2 ©if oidl, Option ID :- 2368,
Answer Given:- 25% / 4%, Option ID : -2365
Correct Answer :- 25% / 2v% Option ID :- 2365

Question ID:- 593
Find Simple Interest if ,P= Rs 1000, R= 20% per annum, T=4 Years .

HATEMRYT AT 51 Hifsie Aafe, P = 3 2000, R = 0% gftrad, T = ¥y ad
Options:-

500 / so00.0, Option ID :- 2370,

2600 / ¢o00.0, Option ID :- 2371,

«800 / ¢oo.0, Option ID :- 2369,

890 / ¢g0.0, Option ID :- 2372,
Answer Given:- 800 / ¢oo.0, Option ID : -2369
Correct Answer :- 800 / ¢oo.0 Option ID :- 2369

Question ID:- 594
Based on the provided relationship, choose the right option:-

RIAHC : CHAIR : : OGNAM : ?
fou s1g ddel @ smee wr, A faascu @1 wRIor Hifste:-

RIAHC : CHAIR:: OGNAM :____ ?
Options:-

+ANGMO , Option ID :- 2376,
«MANGO , Option ID :- 2375,
«OGNMA , Option ID :- 2373,

« TANGO , Option ID :- 2374,
Answer Given:- MANGO , Option ID : -2375
Correct Answer :- MANGO Option ID :- 2375

Question ID:- 595
Based on the provided relationship, choose the right option:-

24 :60:: 210: ?

fou s1g ddell D e ur, A8 fAascu o1 wrRIor Hifsta: -

Q¥ 1 €0 ::2%0: ?
Options:-
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1420 / ¥20.0, Option ID :- 2379,
425 / ¥:y.0, Option ID :- 2378,
505 / svoy.0 , Option ID :- 2377,

«525 / v:y.0, Option ID :- 2380,
Answer Given:- 525 / s:y.0 , Option ID : -2380
Correct Answer :- 525 / s2y.0 Option ID :- 2380

Question ID:- 596
Choose the correct option to complete series:-

125, 80, 45, 20, ____?

9)ufl @I g1 B D [ 8l fameu o1 a=ret Hifsre: -

2R, <o, ¥Y, R0, ?

Options:-

10 / 0.0 , Option ID :- 2383,
«12 / 2.0, Option ID :- 2384,
«5 / v0, Option ID :- 2381,

«8 / ¢.0o, Option ID :- 2382,
Answer Given:- 5 / s.0, Option ID : -2381
Correct Answer :- 5 / s.0o Option ID :- 2381

Question ID:- 597
Choose the correct option to complete series:-

AER, DIT, GMV, ?

9)uil DI Y Bl D feru Hdl ey o1 TrRI6l Hifste: -

AER, DIT, GMV,
Options:-

«JQX , Option ID :- 2385,
«JXQ , Option ID :- 2388,
«QJIX , Option ID :- 2386,

«XJQ , Option ID :- 2387,
Answer Given:- JQX , Option ID : -2385
Correct Answer :- JQX Option ID :- 2385

?

Question ID:- 598

Find the distance covered by a man walking for 12 min. at aspeed of 3.5km/h.

3.y fopatt /=ie bl et A 2R Rreie 3 Ugd dciol ardl =ftb gRI a1 &l 5§ ¢l sira difse

Options:-
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+400mts / ¥oo dicz-cor-Aws , Option ID :- 2392,
«500mts / soo Hicz-cor-Aws , Option ID :- 2389,
1600mts / ¢oo dice-cor-Aws , Option ID :- 2391,

« 700 mts / voo dficz-car-aws , Option ID :- 2390,
Answer Given:- 700 mts / voo 3ficz-cor-a1a5s , Option ID : -2390
Correct Answer :- 700 mts / voo dsfice-car-aws Option ID :- 2390

Question ID:- 599
Kaberi can do a job in 10 days and Arti in 15 days . If both of them work together , how
long will the work last?

D3 20 feof 3 3l ameedl 28 o1 3 Gl B2 ADdl T Al A Sloll AT B Dl &, Al DA B AD ACON?
Options:-

«3 days / 3 feoil, Option ID :- 2396,
«4 days / ¥ fai, Option ID :- 2395,
«5 days / s fal, Option ID :- 2394,

26 days / ¢ feoil, Option ID :- 2393,
Answer Given:- 6 days / ¢ feoii, Option ID : -2393
Correct Answer :- 6 days / ¢ f¢qii Option ID :- 2393

Question ID:- 600
In a bag, 25 paise, 10 paise and 5 paise coins are in the ratio of 1:2 :3 . If their total
value is Rs 30, then the number of 5 paise coins is:-

G Jord Y U, 20 UA 3R Y UA @ Ryad ¢: 1 3 D IJuId A 8 A IoldI Gl e 30 F 3, dl Y U D Rraol
o1 Jzo B:-
Options:-

100 / 200.0, Option ID :- 2398,
«150 / ¢s0.0, Option ID :- 2399,
2200 / 200.0, Option ID :- 2400,

50 / 0.0, Option ID :- 2397,
Answer Given:- 150 / 2s0.0, Option ID : -2399
Correct Answer :- 150 / 2s0.0 Option ID :- 2399

Question ID:- 601
"Surajkund” a reservoir located in Faridabad of Haryana State, is a:-

s I @ wiemars A R v SRt Mggerars”, 3i-
Options:-

«Artificial Lake / ofepn sfier, Option ID :- 2402,
«Natural Lake / ymfere sfier, Option ID :- 2401,
«None of these / somi 2t @1 &1dl, Option ID :- 2404,

«River, named after Lord Sun / swerare 3t & o uz, oiét, Option ID :- 2403,

Answer Given:- Artificial Lake / ofea sfier, Option ID : -2402
Correct Answer :- Artificial Lake / few stiet Option ID :- 2402

Question ID:- 602 |
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If + means x, - means <+, x means —and - means + ,then9+8 +-8-4x9="7?
AR + BIAATIE X, = BIAAAL 3+ , X BI AAAT & — AR+ BIAAAI S + Al ¢ + ¢+¢ - ¥ X ¢ =?
Options:-

11l / 22.0, Option ID :- 2408,

17 / 2v.0, Option ID :- 2406,

226 / :¢.0, Option ID :- 2405,

165 / ¢s.0, Option ID :- 2407,
Answer Given:- 65 / g¢s.0, Option ID : -2407
Correct Answer :- 65 / ¢s.0 Option ID :- 2407

Question ID:- 603
If7x8=49,4x4 =12 and 6 x4 = 18, what will 9 x 6 be?

A UX ¢ =¥3, ¥ X¥ =23 EXY = 2¢, dl 8 X § T aPN?
Options:

=45 / ¥s.0, Option ID :- 2411,
«50 / so0.0, Option ID :- 2410,
«54 / s¥.0, Option ID :- 2409,

«None of these / s A1 @i &1él, Option ID :- 2412,
Answer Given:- 45 / ¥s.0, Option ID : -2411
Correct Answer :- 45 / ¥s.0 Option ID :- 2411

Question ID:- 604
The oath of Prime Minister of India is administered by:-

NRA B YTl &I oruer o) fpad gt feens sl 3:-
Options:-

«Mr. Chairperson of Lok Sabha / ciwsn @ siearer, Option ID :- 2415,
«Mr. Chief Justice of India / sira @ gza sarneftor, Option ID :- 2413,
«Mr. President of India / smea @ ascufer, Option ID :- 2414,

sNone of these / zomi A @i &1dl, Option ID :- 2416,
Answer Given:- Mr. President of India / siea @ ascufer, Option ID : -2414
Correct Answer :- Mr. President of India / smea @ scufer Option ID :- 2414

Question ID:- 605
"Inland National Waterways" is the term used for:-

" sicac ot Il StcraEt” 9166 foprd fere gyep Bl 3:-
Options:-

«Identifying rivers for blue whale sea safari / =g c&a g}l 2Rl 39 cifel @) usarea , Option
ID :- 2420,

«Identifying rivers for water transport / sia uftasa 3q sifeil @f usameer , Option ID :- 2419,

«Identifying rivers having defense importance / qftrarc / swma & sswa 3q sifcl @1 usaretol ,
Option ID :- 2418,

«Recognizing rivers for ILR programme / 3IEuciBiR dridgd 3q afédl ol usdamia , Option ID :-
2417,

Answer Given:- Identifying rivers for water transport / sia uftasa 3q sife=il @l usarsiol ,
Option ID : -2419
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Correct Answer :- Identifying rivers for water transport / sia uf¥asa 2q sifel o1 usdareiel
Option ID :- 2419

Question ID:- 606
Which of the following interchange of sign would make the given equation correct?

64x8+-6x8=6
forgotferiaa 3 A dlar A RIGl @1 sicar-aceil &3 @ Fsfiapur B A8 BI}N?

EY XL T EXC=¢

Options:-

«<= and x / + 3k x , Option ID :- 2422,
«— and x / - 3iiz X, Option ID :- 2424,
«+ and = / + iz =, Option ID :- 2423,

«+ and - / + 3iiz =, Option ID :- 2421,
Answer Given:- = and x / < 3iiz X , Option ID : -2422
Correct Answer :- + and x / + 3iiz x Option ID :- 2422

Question ID:- 607
Select the correct combination of mathematical signs to replace * signs and to balance
the following equation:-

(8 *5*6) *10 * 24

* Rig @I gcca 3R foafeRaa efiaur @I JAqfera w2 & fere sifdrdi Rzl @ a8t FRisIer BT goi: -
(¢ ¥ g * g)*g0 *2y

Options:-

=, +,+,=,0ption ID :- 2428,

«+,-,=,x,Option ID :- 2426,

«X, -, <+, =,0ption ID :- 2427,

«X, X, =, =,0ption ID :- 2425,
Answer Given:- x, x, =, =, Option ID : -2425
Correct Answer :- x, x, =, = Option ID :- 2425

Question ID:- 608
If 3/ 17t of a number is 18, then find its two-third.

afe feoeft Jizcar @1 3/ %V df eI 2¢ 8, dl 3A®I QI-ferE sira Hifse
Options:-

266 / z¢.0, Option ID :- 2431,
«67 / ¢v.0, Option ID :- 2429,
.68 / t¢.0, Option ID :- 2430,

169 / £3.0, Option ID :- 2432,
Answer Given:- 68 / g¢.0o, Option ID : -2430
Correct Answer :- 68 / ¢c.o Option ID :- 2430

Question ID:- 609
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Rainwater Harvesting is the method of:-

auf Ste1 dAorrel feeadt faf?r 3:-

Options:-

s Collection and storage of drain water / fora1f31a sta & waqur ud Fsgur, Option ID :- 2433,
s Collection and storage of Rain water / auf sia @ vaqur wd Fsgur, Option ID :- 2435,
«Collection and storage of river water / sifé=il @ Siar @ wasqur uwd Jsjgur, Option ID :- 2434,

sNone of these / 3ot A @i oidl, Option ID :- 2436,

Answer Given:- Collection and storage of Rain water / auf sia @& vwqur ud sgur, Option ID

-2435
Correct Answer :- Collection and storage of Rain water / auf st @ wasqur ud sgor Option
ID :- 2435

Question ID:- 610
"Mithila Painting" is a painting style, related to:-

"fiféren Riqeerl”, oA &g A Hdfea v g dich 3:-

Options:-

«Bihar region / fasr giq, Option ID :- 2439,

sMadhya Pradesh region / aca ggor 8iq, Option ID :- 2438,
«Tamil Nadu region / afdcens 8, Option ID :- 2440,

«Uttar Pradesh region / 3az gzgor giq, Option ID :- 2437,
Answer Given:- Bihar region / fasr giq, Option ID : -2439
Correct Answer :- Bihar region / fasr giq Option ID :- 2439

Question ID:- 611
"Mohiniyattam" a classical dance form of Kerala is performed:-

DICT DI TP AR ofe< WU "Alfdofisrea’ yrga fesan simar 3:-
Options:-

«in group mode / 39z @1 #, Option ID :- 2442,
«in solo mode / vwa a1 3, Option ID :- 2441,
«None of these / sor6i 2 @1 &iél, Option ID :- 2444,

sthrough small wooden sticks / a®st @ s St & mneaa 31, Option ID :- 2443,
Answer Given:- in solo mode / uoa <ot 3, Option ID : -2441
Correct Answer :- in solo mode / vaa Gor 3 Option ID :- 2441

Question ID:- 612
Which of the following is not the source of renewable energy?

forget 3 A Blorar ordiazvilr Soif o1 T odl 3?
Options:-

«Hydro power / sEs) dias, Option ID :- 2447,
«Natural Gas / ymfere sk, Option ID :- 2448,
sSolar / iz, Option ID :- 2446,

«Wind / zar, Option ID :- 2445,
Answer Given:- Natural Gas / gigfae 311, Option ID : -2448
Correct Answer :- Natural Gas / yiafae sir Option ID :- 2448
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Question ID:- 613
UFO term related to space and technologies. U.F.O stands for:-

UFO orss siaf¥er ud amoiifessl A dftfra e U.F.O. o1 guf wu 3:-
Options:-

«Unidentified Flying Object / smiimssitess wensst sitssiae, Option ID :- 2451,
«Unidentified Flying obstaction / sciims3Rwerss warger sitssreasrst, Option ID :- 2452,
sUnidentified Foreignh Object / scnssiRwss wiva siissiac, Option ID :- 2449,

sUnrecognizable Foreign Oject / smifsasonssiad wive sifssiac, Option ID :- 2450,
Answer Given:- Unidentified Flying Object / scinms3ftwrss varssr siissiae, Option ID : -2451
Correct Answer :- Unidentified Flying Object / scins3fRwrss wanger sitssiac Option ID :- 2451

Question ID:- 614
File compression is not offered by:-

wIsd oI Aehffiwur/ oyt foad grI odl giar 3:-
Options:-

«7- zip / v- f5ig, Option ID :- 2453,

sAcrobat Reader / valac dsz, Option ID :- 2456,
« Win Rar / faeez, Option ID :- 2454,

«Winzip / feifsia, Option ID :- 2455,
Answer Given:- Acrobat Reader / vmiae $is3, Option ID : -2456
Correct Answer :- Acrobat Reader / uajdac $isz Option ID :- 2456

Question ID:- 615
5 kg 5 gm can be written as:-

s fapcll 8 aJIa1 I U A forzar s ADwar 3:-
Options:-

20.55 kg / o.ss fossg, Option ID :- 2460,
25.005 kg / s.00y fosg, Option ID :- 2457,
«5.05kg / s.04 foeqr, Option ID :- 2458,

«5.5 kg / s.y oo, Option ID :- 2459,
Answer Given:- 5.005 kg / s.oo0s f&ssg, Option ID : -2457
Correct Answer :- 5.005 kg / s.o0y fossg Option ID :- 2457

Question ID:- 616
write 2 rupees and 5 paise as decimal:-

2 BUU 3R Y URI Pl goRIcId P U 4 ferlkRau: -
Options:-

Free Downloaded From - www.exammix.com



«Rs 2 / 52, Option ID :- 2464,
sRs 2.005 / = .00y, Option ID :- 2462,
«RS 2.05 / 5 2.0y, Option ID :- 2461,

«Rs 2.5 / 5.y, Option ID :- 2463,
Answer Given:- RS 2.05 / = 2.0, Option ID : -2461
Correct Answer :- RS 2.05 / = 2.08 Option ID :- 2461

Question ID:- 617
Which of the following is considered as epicentre of corona-virus outbreak?

forget 3 A A DRI ARRA YBIU BT DG Aol SIIeT 3?2

Options:-

«None of these / sori 2t @1 &idl, Option ID :- 2468,

« Wuhan City Centre / ggzra RBiél 3iecz, Option ID :- 2466 ,

« Wuhan Furniture market / gsa woffaz sirase, Option ID :- 2465,

« Wuhan Wet Market / ggrat dac simase, Option ID :- 2467,
Answer Given:- Wuhan Wet Market / gsra ac sase, Option ID : -2467
Correct Answer :- Wuhan Wet Market / ggrar ac srase Option ID :- 2467

Question ID:- 618
The product of a rational and irrational number is:-

up UfydR 3iie ruf¥aRI TR B uIelbet 3:-
Options:-

sboth of above / suz @& <l , Option ID :- 2471,
sirrational / smafyder, Option ID :- 2470,
shone of above / soni A @I ol , Option ID :- 2472,

srational / uf¥a=r, Option ID :- 2469,
Answer Given:- irrational / safyaar, Option ID : -2470
Correct Answer :- irrational / smafyrr Option ID :- 2470

Question ID:- 619
What is the minimum value of cos 6, 0 < 0 < 90°

€c0S 0, 0 = 0 =< 30° BI YeIAH Al TAT 3:-
Options:-

0 / 0.0, Option ID :- 2474,

«1 / 2.0, Option ID :- 2475,
«1/2/22/2,0ptionID:- 2476,

-1, Option ID :- 2473,
Answer Given:- 0 / o.0o , Option ID : -2474
Correct Answer :- 0 / o.0 Option ID :- 2474

Question ID:- 620
Famous quote --"Swarajya is my birthright and I will have it" is said by
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girg 301 --" TR AR Sledfng 2R 3 3 3 3 dm: Won'', BAD TRI Bal SR
Options:-

sAurobindo Ghose / srfass @i, Option ID :- 2480,
«Bal Gangadhar Tilak / s siener fereras, Option ID :- 2478,
«Bipin Chandra Pal / faftrer aeg urct, Option ID :- 2479,

«Lala Lajpat Rai / crenr arsua 2r1, Option ID :- 2477,
Answer Given:- Bal Gangadhar Tilak / ac siener firetas, Option ID : -2478
Correct Answer :- Bal Gangadhar Tilak / ara siener feraas Option ID :- 2478

Question ID:- 621

A man pointing to a photograph says, "The lady in the photograph is my nephew’s
maternal grandmother”. How is the lady in the photograph related to the man’s sister
who has no other sister?

U 3G Tp IR 1 3R SRT BT U badl 3, "axdl 3 &z & aiden A aciior 6 oot 3 "' azdiz 3 3 &t
AR b1 A 311Gl DI Tao1 A T Rofar 3 ! @1 o3l d6dt oél 3?
Options:-

«Cousin / =338 sger, Option ID :- 2481 ,
sMother / @i, Option ID :- 2483,
sMother-in-law / a1, Option ID :- 2484,

«Sister-in-law / e, Option ID :- 2482,
Answer Given:- Mother / ai, Option ID : -2483
Correct Answer :- Mother / ai Option ID :- 2483

Question ID:- 622
Which is the most important form of transportation in India?

Rd 3 ufsasel &1 ASR] Ascayul wU DlorRII 872

Options:-

sAir transport / arj uf¥asa, Option ID :- 2488,
«Railway / 3, Option ID :- 2485,

sRoad transport / s1s3 uf¥ase, Option ID :- 2486,

« Water transport / sicr uf¥asa, Option ID :- 2487,
Answer Given:- Railway / ¥aa, Option ID : -2485
Correct Answer :- Railway / Yaa Option ID :- 2485

Question ID:- 623

Bhanu runs 100 m south from his house, turns left and runs 250 m, again turns left
and runs 400 m, then turns right and runs 50 m to reach to the stadium. In which
direction is the stadium from his house?

#HTo] 3[Uol IR A 200 Hic? gidrur &6 3k Tcrdr &, €8 J3dI 3 3R Yo ez dgcidr 3, b2 U 31 3 31k Yoo ez actar
3, 52 o8 gsar 3 3k ¥ ao ugaa @ ferw Yo e Slsar & Rz 3D @ A v Rom 3 3?
Options:-
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«East / gd, Option ID :- 2490,
«Northeast / 3a=-ud, Option ID :- 2491,
sNorthwest / saz-cfaor, Option ID :- 2489,

«South / sfér, Option ID :- 2492,
Answer Given:- Northeast / s@=-yd, Option ID : -2491
Correct Answer :- Northeast / 3a=-yd Option ID :- 2491

Question ID:- 624

Mohan is 48 years old. Ramesh is 6 year junior to Mohan and 14 years senior to Rohan.
Mohan has 2 children Neelu and Vineet. Youngest sister of Rohan is Kaveri and she is
15 years junior to him. So what is the age of Kaveri?

Higol DI 39 ¥¢ AT 3 A1 Hlgol A ¢ Alel DI 302 Adol A ¥ Al G513 Hlgol D 2 g ol 3R fdella  Asel Hi
AGA BIET G50l DBINIL 3 3R 98 IJA 8 AT DIt & dl BIA3N DI 39 a= 3?

Options:-

«12 / 22.0, Option ID :- 2496,

=13 / 3.0, Option ID :- 2495,

214 / <3%.0, Option ID :- 2494,

15 / ts.0, Option ID :- 2493,
Answer Given:- 13 / 3.0, Option ID : -2495
Correct Answer :- 13 / 23.0 Option ID :- 2495

Question ID:- 625
Re-arrange to provide meaningful order--

(1) Adult

(2) Child

(3) Infant

(4) Boy

(5) Adolescent

Jrefd Gt Yaral e D feru fib: A ral¥ea o3--

(2) =
(R) s
(3) forgg
(¥) as@1
() fponz
Options:-

«1,2,4,5,1 / 2,3,%,,%, Option ID :- 2500,
«1,3,2,4,5 / <,3,2,%,%, Option ID :- 2497,
«2,3,5,4,1 / ?,3,y,%,%, Option ID :- 2498,

«3,2,4,5,1 / 3,3,%,%,%, Option ID :- 2499,
Answer Given:- 3,2,4,5,1 / 3,?,%,%,%, Option ID : -2499
Correct Answer :- 3,2,4,5,1 / 3,:,%,s,2 Option ID :- 2499

Question ID:- 626
Find the odd one out form the given:-

(1) Violet
(2) Blue

Free Downloaded From - www.exammix.com



(3) Green
(4) White

fu a1w 3 A v faua (oo ) o1 =oi:-

(2) Sercht
(R) sl
(3) &x
(¥) awg
Options:-

«1 / 2.0, Option ID :- 2504,
2 / 0, Option ID :- 2502,
«3 / 3.0, Option ID :- 2501,

4 / ¥.0, Option ID :- 2503,
Answer Given:- 4 / ¥.0o, Option ID : -2503
Correct Answer :- 4 / ¥.0 Option ID :- 2503

Question ID:- 627
A statement is given followed by a two conclusions. Choose the right answer:-

TP DYl D 916 < forcpd Ru s 3 8l 3a= gferd:-
Statement:-

The Sri Lankan cricket team scored 400 runs out of which Atapattu scored 180
runs. / oficiers fegae & of Yoo o1 Fele BRI A 20 61 UgY ATSHSA of Tolle

Conclusion:-
I. Atapattu was the highest run scorer of the match /scrug 3a @1 saifiie 261 goire acr Raerst

I1I. Atapattu scored 75 suns in singles only/szmug of ddc Uh-ud BID US 61 G6llg
Options:-

sConclusion 1 and 2 follows / forsott ¢ siiz 2 @161 &, Option ID :- 2507,
sNeither 1 nor 2 follows / & i ¢ 3iiz o & 2 3dl &, Option ID :- 2508,
«Only Conclusion 1 follows / @aa forcaod ¢ a1d) 3, Option ID :- 2505,

=« Only Conclusion 2 follows / @ad forcaod 2 a1dt 3, Option ID :- 2506,
Answer Given:- Neither 1 nor 2 follows / & dl ¢ siiz o 8 2 3d 3, Option ID : -2508
Correct Answer :- Neither 1 nor 2 follows / & t ¢ 3ilz of 31 2 21é1 @ Option ID :- 2508

Question ID:- 628
Choose the right answer from the given statement:-

Basket ball players are generally tall. Jeevan is a basket ball player. Therefore Jeevan
is tall.

fou su weya d A A3l 3= gforu:-

divade dict @& Raanst smerdlk u? o) 8Xa & Shidol ud ddde dicl o1 Raarst 3 safe Sfigor car 3
Options:-
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sCant say / @©s odl 3, Option ID :- 2511,
«False / sraa, Option ID :- 2509,
«Probably True / zsaa: sdt , Option ID :- 2510,

«True / 3@, Option ID :- 2512,
Answer Given:- Probably True / zsma: 31dt , Option ID : -2510
Correct Answer :- Cant say / @s oidl wpa Option ID :- 2511

Question ID:- 629
The mean of ten number is 58. If one of the numbers is 40, what is the mean of the
other nine?

A AR DI AIEA 8¢ & AR AR A A Ub JIRT ¥o &, dl 316 cll AIATAN DI ATET AT &2
Options:-

«162 / 2.0, Option ID :- 2515,
.18 / 2¢.0, Option ID :- 2513,
540 / s¥o.0, Option ID :- 2516,

160 / 0.0, Option ID :- 2514,
Answer Given:- 60 / ¢o.0, Option ID : -2514
Correct Answer :- 60 / ¢o0.0 Option ID :- 2514

Question ID:- 630
Calculate compound interest on the sum of Rs. 35000, after 5 years at the rate of 12%
per annum?

38000 BWRI BI 2% yfer aiftic ars1 df g2 A 8 Ul D |16 DI Tagly RIS DI I1vTel HifsTe
Options:-

sNone of these / ol A @i &1dl, Option ID :- 2520,
:sRs. 26681 / = ¢¢¢t, Option ID :- 2518,
«Rs. 26685 / 5 :¢¢¢y, Option ID :- 2517,

«Rs. 27000 / = 29000, Option ID :- 2519,
Answer Given:- Rs. 26681 / » 2¢c¢t, Option ID : -2518
Correct Answer :- Rs. 26681 / = 2¢¢¢t Option ID :- 2518

Question ID:- 631
Which of the following has developed the ELISA test kit for Covid-19 which is an
antibody detection test kit, it has been named as ‘COVID KAVACH'?

forger A A ool difas-28 @ fore uferar < fobe omm Sl o v Tdardt Reaere e five (yferslt wst st fose) 3,
DI oIl DIAS Bad I SR 32
Options:-

«Indian Institute of Information Technology / srdia Jaon Yienf3rbt Jizems:, Option ID :-
2522,

«None of these / sordi A @i oidl, Option ID :- 2524,
«The Department of Science and Technology / fasirer vd assiid! faemer, Option ID :- 2521,

«The Nation Institute of Virology / s faumy fasimet Jizems;, Option ID :- 2523,

Answer Given:- The Nation Institute of Virology / s foumvy fasimer Jizensr, Option ID : -
2523

Correct Answer :- The Nation Institute of Virology / &R faumv fasier Jizemst Option ID :-
2523
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Question ID:- 632
What will be the perimeter of parallelogram, which has base of 9cm and side of 20cm?

AAIR A DI ultdAra a=ar de1, SRIT SreR ¢ Al siiz s 20 A6t 3?7
Options:-

56 / s¢.0, Option ID :- 2525,
57 / sv.0, Option ID :- 2526,
«58 / yvc¢.0, Option ID :- 2527,

sNone of these / soidi I @i &1él, Option ID :- 2528,
Answer Given:- 58 / yc.0, Option ID : -2527
Correct Answer :- 58 / sc.o Option ID :- 2527

Question ID:- 633
Expression "8x + 9z" is termed as:-

sifdrcafs "¢eX + 22" @ }u A bar Sl 3i-
Options:-

«Binomial / fxudin, Option ID :- 2530,
sMonomial / voudkr, Option ID :- 2531,
sNone of these / soii a @i &1él, Option ID :- 2532,

«Trinomial / feudk, Option ID :- 2529,
Answer Given:- Binomial / fgud, Option ID : -2530
Correct Answer :- Binomial / fgudkr Option ID :- 2530

Question ID:- 634
A train 100 meters long running at 54 km/hr takes 20 seconds to pass a bridge. The
length of bridge is:-

200 ez cidfl up ot DI $¥ fpafl/der b AR A TP Yol DI UR B! 3 20 ADS BI A Bl & gel ol ciars 3i-
Options:-

«150 mt / ¢yo dfice, Option ID :- 2534,

200 mt / 200 dficz, Option ID :- 2535,

«50 mt / so sficz , Option ID :- 2533,

1620 mt / ¢20 3fices, Option ID :- 2536,
Answer Given:- 200 mt / 200 dicz , Option ID : -2535
Correct Answer :- 200 mt / 00 3fice Option ID :- 2535

Question ID:- 635

At a restaurant, five guests are sitting in a row. Neeta is to the left of Manju and to the
right of Navin. Rishab is to the right of Kavita, but to the left of Navin. Where is Navin
sitting?

Tp IR I, Ui AsHIol Tp Ufep H 93 & oflelr g D a13 31R 3R cIdlicl D I3 3R 3 >BUH Bladl D I3 3R 3, cfdvor
oidlcl @ 91 3 & oIdlol dal doI13?
Options:-
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«Centre / & &, Option ID :- 2538,
«Extreme left / f&cgea arg, Option ID :- 2539,
«Extreme right / fac@wa s, Option ID :- 2537,

«Second from the right / s a1 garer, Option ID :- 2540,
Answer Given:- Centre / &k 3, Option ID : -2538
Correct Answer :- Centre / da & Option ID :- 2538

Question ID:- 636
Asha is taller than Pratima. Prabhas is shorter than Pratima. Alka is shorter than Asha.
Alka is taller than Prabhas. Who among the following is the shortest?

amrom, gfemm A cidl 3 YaRa, gfeni A 91 & eI 30l A BIE & eIl YT A cidl & forsaaferRaa 3 A ola A=t
Bl 37
Options:-

sAlka / srerm1, Option ID :- 2542,
sAsha / smom, Option ID :- 2544,
«Prabhas / s, Option ID :- 2543,

«Pratima / gfeen, Option ID :- 2541,
Answer Given:- Prabhas / gsmre1, Option ID : -2543
Correct Answer :- Prabhas / garer Option ID :- 2543

Question ID:- 637
The simple interest on a certain sum in 8 year was 40% of the principal. Calculate the
rate of interest.

uop forf2aa Afdr ur ATeRYI <arst ¢ ad 3 Jererst B1 ¥0%o 3l SR &1 ATt G2 B STl DRI
Options:-

«10% / 20%, Option ID :- 2548,
«5% / $%, Option ID :- 2545,
«6% / %, Option ID :- 2546 ,

7% / v%, Option ID :- 2547,
Answer Given:- 5% / s%, Option ID : -2545
Correct Answer :- 5% / s% Option ID :- 2545

Question ID:- 638
What is the mean of the first 30 whole number?

usctl 30 yul FxqRsil o1 smeRr am 32
Options:-

«12 / 22.0, Option ID :- 2549,
«14 / %.0, Option ID :- 2552,
«14.5 / ¢v.s, Option ID :- 2551,

=15 / 2s.0, Option ID :- 2550,
Answer Given:- 14.5 / ¥y, Option ID : -2551
Correct Answer :- 14.5 / <¥.s Option ID :- 2551

Question ID:- 639 )
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Complete the series by choosing the last sequence of the given series:-
A, B, D GKP
& or¢ 9jzacit @ 3P M DY Fold2 YA B Y BI:-

A, B, D GK,P |
Options:-

«V, Option ID :- 2555,
«X , Option ID :- 2556,
«Y , Option ID :- 2554,

«Z , Option ID :- 2553,
Answer Given:- V , Option ID : -2555
Correct Answer :- V Option ID :- 2555

Question ID:- 640
If India is written as 914491 the Delhi will be written as:-

Ife aRa oI e2¥¥ et B wu I forar sirar 3 al fRecht o) 331 yor ferar sesm: -
Options:-

1451279 / ¥s209%.0, Option ID :- 2560,
1451289 / ¥yg¢s.0, Option ID :- 2558,
145389 / ¥s3¢s.0, Option ID :- 2557,

145489 / ¥y¥c¢s.0, Option ID :- 2559,
Answer Given:- 451289 / ¥s2¢8.0, Option ID : -2558
Correct Answer :- 451289 / v¥s2¢s.0 Option ID :- 2558

Question ID:- 641
Find the difference of Face and Place Value of 6 in 246782.

VLR A ¢ D 3ifepa el 3R FATGHRT AT BT iR AT B3I
Options:-

15964 / s3¢v.0, Option ID :- 2564,
15994 / y33g¥.0, Option ID :- 2561,
16000 / g000.0, Option ID :- 2562,

16006 / ¢o0¢.0, Option ID :- 2563,
Answer Given:- 5994 / sssy.0, Option ID : -2561
Correct Answer :- 5994 / yggy.0 Option ID :- 2561

Question ID:- 642
70% of x+315%x3/7=723. Then x=?

X+328X3/9 b1 vo% =u3. dl X=2?
Options:-
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«588 / sv¢c.0o, Option ID :- 2568,
840 / ¢¥o0.0 , Option ID :- 2566,
840.78 / ¢¥o.v¢ , Option ID :- 2567,

«858 / ¢sc.0o , Option ID :- 2565,
Answer Given:- 840.78 / ¢¥o.y¢c , Option ID : -2567
Correct Answer :- 840.78 / ¢¥o.u¢c Option ID :- 2567

Question ID:- 643
The ratio between two members is 5:6 . if each member is increases by 5, the ratio
becomes 6:7 . find the difference between the numbers.

QI Al D dla DI HolUId $:¢ 3 AR YAD AGRA Y A d6dl 3, dl MofUld &1V 3l Sl & AWAA D T DI 3icR
SI1d BRI
Options:-

=18 / 2¢.0, Option ID :- 2572,
=25 / :y.0, Option ID :- 2569,
«30 / 30.0, Option ID :- 2570,

«5 / v.0, Option ID :- 2571,
Answer Given:- 5 / s.0, Option ID : -2571
Correct Answer :- 5 / s.0 Option ID :- 2571

Question ID:- 644
The area of the greatest circle inscribed inside a square of side 10cm is:-

20 A4l I YSII a1l T ol D 3iGT Jol AT IS el DI Sl 3:-
Options:-

»1584 / 14 cm?2 / scy / ¥aalr , Option ID :- 2576,
2679 / 7 cm?2 / gue / v , Option ID :- 2573,
2792 / 12 cm? / vs2 / 23uM} , Option ID :- 2574,

2842 / 14 cm?2 / ¢¥2 / <3ui} , Option ID :- 2575,
Answer Given:- 1584 / 14 cm? / e8¢y / %3t , Option ID : -2576
Correct Answer :- 1584 / 14 cm? / es¢y / <3ui® Option ID :- 2576

Question ID:- 645

A person has 3 children with at least one boy. Find the probability of having at least 2
boys among the children.

TP RAftb D 3 G0 & 3oldl D A DA UD ISDHI & acdl 3 DI A DA ATASD alol DI ANIdoll SITA DI

Options:-

«2/4 / /¢, Option ID :- 2578,

«3/4 / 3/%, Option ID :- 2577,

«4/4 [/ ¥/¢, Option ID :- 2579,

sNone of these / soii 3 @i &1éf , Option ID :- 2580,
Answer Given:- 3/4 / 3/¢, Option ID : -2577
Correct Answer :- 3/4 / 3/% Option ID :- 2577

Question ID:- 646
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Choose the right option from the provided statement. "How is Pratibha related to
Suresh"?

feu s1e weret # A A8 rvcu gfere "yfersm o1 A DA Adfera 3"?
Options:-

« If the data either in statement I alone or in statement II alone are sufficient to

answer the question. / afe ar a wecr I @1 weror I siaa d U o108 3iids Yool oI IR Sol @ Riw wafa &,
Option ID :- 2583,

«If the data in both the statements I and II together are not sufficient to answer the
question. / afe werer I siiz I1 <ol @ i3 Yool oI Ia= ol @ fore wifa o1t € , Option ID :- 2584,

«If the data in statement I alone are sufficient to answer the question, while the data
in statement II alone are not sufficient to answer the question. / afe wemwr I 3 fGu 510 snics
3BT Y961 DI 3R Sol D foe w=ntd &, srafes weror I1 3 f3U 218 siiass ool oI 3R Sol @ fow wriig oidi 3, Option
ID :- 2581,

«If the data in statement II alone are sufficient to answer the question, while the data
in statement I alone are not sufficient to answer the question. / afe @eme 11 ¥ U 10 snips
3Dl Yool DI IR Sol D fore uRafe 3, Srafes oot I 3 fu 31u s1idps yool ol 3R Jof @ fere w=iia odl & , Option
ID :- 2582,

Answer Given:- If the data in statement II alone are sufficient to answer the question,
while the data in statement I alone are not sufficient to answer the question. / af¢ wea
II 3i fCu 31U 3fis Bl Yool I 3= Sol @ feru u=atd 3, Srafes oo I 3 fu s1u 3iies g oI IR gol @ fore uafa
s8I g , Option ID : -2582

Correct Answer :- If the data in statement II alone are sufficient to answer the
question, while the data in statement I alone are not sufficient to answer the question.
/ afe @eret 11 3 &u 31U 31ips el Yool BT IR ool @ fore writd 3, Safes wera I 3 fSu s1u siicbs Yool &I a2 Sol D
fore waria o € Option ID :- 2582

Question ID:- 647
Choose the right option from the provided statement. "By selling a product at 20%
profit, how much profit was earned"?

fou s1u werar A A A ey gfore 0% it ur Ieure Jamr, feden e sifSfa s srRn™ ?
Statement:-
The difference between cost and selling price is ¥40./dria ik f[d@} gca & dia o1 siaz Tvo 3

The selling price is 120% of the cost price. /faaa Jca apia Igea a1 220% 3
Options:-

« If the data either in statement I alone or in statement II alone are sufficient to

answer the question. / afe ar at @weet I a1 werot I1 dd # S 310 3ids Yool oI a2 Sol @ R wRig 3,
Option ID :- 2587,

«If the data in both the statements I and II together are not sufficient to answer the
question. / afe oee I i I1 Sloil & 33 Yo @I 302 3o @ forw weifa oidt € , Option ID :- 2588,

«If the data in statement I alone are sufficient to answer the question, while the data
in statement II alone are not sufficient to answer the question. / afe @emwr I # v 510 siips
3BT Y61 DI 3R Sol D foe w=nty 3, srafes weror 11 3 U a8 siiass ot oI 32 Sof @ foe wrifa oidi 3, Option
ID :- 2585,

« If the data in statement II alone are sufficient to answer the question, while the data
in statement I alone are not sufficient to answer the question. / afe e 11 # v a0 siiwcs
3Dl Yool DI IR Sol D fore uRafe 3, S/afes oot I 3 fu 31u s1idps gl oI 3R Jof @ fere wzifa oidl & , Option
ID :- 2586,
Answer Given:- If the data in statement I alone are sufficient to answer the question,
while the data in statement II alone are not sufficient to answer the question. / afe wea
I 3 fou 31w 3NibS 3B Yool DI Ia2 Sof D fog u=atd &, stafds werer I1 3 U s1u siicss Yool &I 3a= Sof @ ferg u=ifa
s8I g , Option ID : -2585
Correct Answer :- If the data in statement I alone are sufficient to answer the
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question, while the data in statement II alone are not sufficient to answer the
question. / afe wee I 3 f3U 310 3iidS ABA YooT BT 32 Sl @ forg uRay 3, stafds weret II d 3w s1w siievs gest
®I a2 Sol @ forg ufg aiéf & Option ID :- 2585

Question ID:- 648
Statement given by two course of action, choose the right answer.

Berol @ ofld feu s gl fordigon A A A8 I3 &1 TRI6el Hifsre

Statement:-

A sting operation conducted by a TV news channel proved to be a total failure as the
reporter who carried out the sting was found to have created a fake sting in order to
gain publicity and money. /ve &dl st dotal GRI fpn s R<ar sifturorer g1 fawer nfda ga3n a=ifes Rear
DI 3HSIEI ol a1l f¥aIé? of Yar ik U1 s1R1eT B0l & feru v weil R<3T Joirn on

Conclusion:-

I) Disciplinary action must be initiated immediately against the reporter. /fyué: @ Racars
T SIGIIRIGICH® PRAr$ 9Rs oI el anfde

II) The TV channel should be penalised and taken off air for the short period of time
./ &di Toter oI Si3a @2 Iod el IR D e dc B2 Soir anfdu

Options:-

«If both I and II follows / afe I 3iiz I1 <ol sigrRur @w=a & , Option ID :- 2591,

«If neither I nor II follows / afe o1 at I iz of 3t II srepRrur a2ar & , Option ID :- 2592,

«If only I follows / afé @acr I sigpRur war 3 , Option ID :- 2589,

«If only II follows / afé @ae 11 sieperur @=ar & , Option ID :- 2590,
Answer Given:- If both I and II follows / afe I 3iik II <loll siglRRuT w2 & , Option ID : -2591
Correct Answer :- If both I and II follows / af¢ I 3iiz II <l siglRRuT @ & Option ID :- 2591

Question ID:- 649
Statement given by two course of action, choose the right option.

DUl D ofld fou s 41 fodiemil A A I} IR BI T=Iol Hifsie
Statement:-

An unacceptable number of children die during the first year of their lives. The high
incidence of infant death is a major cause of concern for the health ministry./vs sidiort
I A 9 3[4l Siidel @ Uscl ad @ SRIel 4R SIId 3 f919] ey bl ITar acell IR HeJIeRI D fere Ridr o1 v yga
DRYI 3

Conclusion:-

1. All government hospitals should be privatised to improve health care facilities. /zarea
SxasIe Afaensii 3 JLUR il D fere Wil PR srrudrel o1 forsiiazur fep=ar siren aifde

II. Government should commit higher levels of their budget to health services./3®r o1
3gal gsic 1 J31 3311 Fared Aasii & fere Jyd oo aifse
Options:-

«If both I and II follow / afe I sik II Sleil siepRur w2 3, Option ID :- 2595,
«If neither I and II follows / afe a1 ar I 3iiz o & 11 sepRRuI @w2ar 3, Option ID :- 2596,
«If only I follow / af¢ @ae I sioRRvr w=ar §, Option ID :- 2593,

«If only II follow / afé @ae II siefrur w=ar 8, Option ID :- 2594,
Answer Given:- If only II follow / af¢ @aer 11 soRur @2l 3, Option ID : -2594
Correct Answer :- If only II follow / afe @aer I1 sreeRul wear 8 Option ID :- 2594
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Question ID:- 650
Find the odd one from the following:-

"5,13, 29, 61, 120, 253."
forgotferRaa 3 A faua sia bifse: -

"s,23,28, €3, 20, 283."
Options:-

120 / 220.0, Option ID :- 2599,
253 / 2%3.0 , Option ID :- 2600,
29 / 3.0, Option ID :- 2598,

161 / £¢2.0, Option ID :- 2597,
Answer Given:- 120 / 220.0 , Option ID : -2599
Correct Answer :- 120 / 20.0 Option ID :- 2599

Question ID:- 651
Of the four alternative given in each of the following questions, find the one which is
different from the rest.

forgatferiRaa gl geot 3 U sg ar fawmcul 3 A, S arbl A 31c1e1 3, 3A 1A HIfSIY
Options:-

«Body - Hand / orsiz-arer, Option ID :- 2601,

sEye - Ear / sitm-oro1, Option ID :- 2603,

sFoot - Ankle / tr-cwon, Option ID :- 2602,

« Wrist - finger / warg-3srcft, Option ID :- 2604,
Answer Given:- Eye - Ear / sitm-oro1, Option ID : -2603
Correct Answer :- Eye - Ear / sitsa-oret Option ID :- 2603

Question ID:- 652
Dhanpat Rai is the real name of the very famous Indian author, who is popularly
known as:-

ereTud I 98 YRIg HRARI add @1 ar<afde bl 3, f5163.... IR U i Siell SIrdr 3: -
Options:-

«Hussain Haqqani / g3ia saoreil, Option ID :- 2605,

«Munshi Premchand / 3s9ft ggric, Option ID :- 2606,

sSalman Rushdie / cemer 2961, Option ID :- 2608,

« T.S. Eliot / &.ua. uferie, Option ID :- 2607,
Answer Given:- Munshi Premchand / 39ft ggrcic, Option ID : -2606
Correct Answer :- Munshi Premchand / sioft gurcic Option ID :- 2606

Question ID:- 653
Which among the following is the biography on Nelson Mandela?

forgaifeiRae 3t A wlor 2t SicHor Fidcm &Y Shaoft 3?
Options:-
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«Higher than Hope / srRr 3 3lu, Option ID :- 2612,
sMein Kempf / sfia @5aw, Option ID :- 2609,
« My Experiments with Truth / & vaardifyia faer ga, Option ID :- 2611,

«Wings of Fire / fdsra sits wrz, Option ID :- 2610,
Answer Given:- Higher than Hope / arr $a gy, Option ID : -2612
Correct Answer :- Higher than Hope / arirz o1 gsiu Option ID :- 2612

Question ID:- 654
Foreign exchange reserves of India include:-

R @ ol Aqy sisr 3 onfirer 3:-

Options:-

= All of the above / suzis asfi, Option ID :- 2616,
«Foreign Curriencies / fagoft g9, Option ID :- 2615,
«Gold / 3o, Option ID :- 2613,

«SRD / wa ae &, Option ID :- 2614,
Answer Given:- All of the above / suzrs a3ft, Option ID : -2616
Correct Answer :- All of the above / sus a3t Option ID :- 2616

Question ID:- 655
Which of the following is not the example of Direct Tax?

forotferRac 3 A wlol AT YAST DI DI ISIEVT oidl 3?2

Options:-

sEstate Tax / Jucr =3, Option ID :- 2619,

sIncome Tax / sz, Option ID :- 2617,

«Value Added Tax / dcg uss ¢as, Option ID :- 2620,

« Wealth Tax / zufi @53, Option ID :- 2618,
Answer Given:- Value Added Tax / dcg uss a1, Option ID : -2620
Correct Answer :- Value Added Tax / dcj u3s a1 Option ID :- 2620
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